
1) 23.37 ÷ 12.3

Answer: ____________

2) 'What is the probability of rolling a 
number less than 4.when rolling a dice

Answer: ____________

3) (-224) ÷ 14

Answer: ____________

4) 20/12 + 11/4

Answer: ____________

5) Round 22.7132 to 1 decimal places.

Answer: ____________

6) Simplify 7:6

Answer: ____________

7) A number is chosen at random from 1 
to 25. Find the probability of selecting 
factors of 7 and 10.

Answer: ____________

8)

A = 17  B
Find the Angle at side B.

Answer: ____________

9) $247.00 earning 1.8% compound 
interest for 1 years.

Answer: ____________

10) (10 x 88) - (6 x 14)

Answer: ____________

11) (420)5

Answer: ____________

12) Convert the following improper 
fraction 17/8 + 31/6 into a mixed 
number

Answer: ____________

13) (68)4

Answer: ____________

14) (2 x 83) - (9 x 14)

Answer: ____________

15) 4/3 + 3/7

Answer: ____________
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16) 36 - (-80)

Answer: ____________

17) 36 - (-80)

Answer: ____________

18) 1000 ÷ 100

Answer: ____________

19) Round 4.906099 to 2 decimal places.

Answer: ____________

20) Find the percentage change from 20 
to 38

Answer: ____________

Total: ___ / 20
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Answers:

1) 1.9 2) 1/2 3) -16 4) 45/12 5) 22.7 6) 7 : 6 7) 0/1

8) 163 9) $251.45 10) 167772154 11) 4100 12) 51/24 13) 632 14) 1015

15) 116/21 16) 116 17) 116 18) 10 19) 4.91 20) 90%
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